No Short Description Long Description Manufacturer Unit Quantity
1 Bolt, hex head Hex bolt, full thread, M10-25L, Material X10NiCrAITi3220, ASME B18.2.3.5M EU/G7 Pcs 250
2 Washer, Lock Stop washer, M10, Material X10NiCrAlTi3220 EU/G7 Pcs 250
3 Stud Bolt Stud bolt, full thread M16-120L, material X10NiCrAITi3220, ASME B18.31.1M EU/G7 Pcs 20
4 Stud bolt Stud bolt, full thread, M16-55L, Material X10NiCrAITi3220, ASME B18.31.1M EU/G7 Pcs 50
5 Nut, Hex Hex Nut, M16, Material X10NiCrAITi3220, ASME B18.2.4.1M EU/G7 Pcs 120
6 ‘Washer, lock ‘Washer, M 16, Material X10NiCrAITi3220, ASME B18.22M EU/G7 Pcs 120
7 Stud bolt Stud bolt, full thread, M20-200L, Material X10NiCrAlITi3220, ASME B18.31.1M EU/G7 Pcs 20
8 Hex Nut Hex Nut, M20, Material X10NiCrAITi3220, ASME B18.2.4.1M EU/G7 Pcs 40
9 STUD,BOLT Stud bolt, M42, L230mm, P4.5, Material 21CrMoV5-7, DIN 2510 EU/G7 Pcs 12
10 NUT,HEX Hex Nut, M42, P 4.5 Material 24CrMo5, DIN 2510 EU/G7 Pcs 12
11 BOLT,HEX HEAD Hex bolt, M16-40L, Material alloy 602, ASME B18.2.3.5M EU/G7 Pcs 40
12 Hex bolt Hex bolt, full thread, M16-65L, Material alloy 602, ASME B18.2.3.5M EU/G7 Pcs 50
13 NUT,HEX Hex Nut, M16, Material alloy 602, ASME B18.2.4.1M EU/G7 Pcs 150
14 BOLT,HEX HEAD Hex bolt, full thread, M12-1.75P-40L, Material 25Cr:22Ni:2Mo, ASME B18.2.3.5M EU/G7 Pcs 100
15 BOLT,HEX HEAD Hex bolt, full thread, M12-1.75P-45L, Material 25Cr:22Ni:2Mo, ASME B18.2.3.5M EU/G7 Pcs 50
16 NUT,HEX HEAD Hex Nut, M12, Material 25Cr:22Ni:2Mo, ASME B18.2.4.1M EU/G7 Pcs 300
17 WASHER, SPRING Spring washer, M12, Material 25Cr:22Ni:2Mo, As Drawing EU/G7 Pcs 300
18 BOLT,HEX HEAD Hex bolt, full thread, M12-1.75P-50L, Material 25Cr:22Ni:2Mo, ASME B18.2.3.5M EU/G7 Pcs 300
19 BOLT,HEX HEAD Hex bolt, full thread, M20-2.5P-55L, Material 25Cr:22Ni:2Mo, ASME B18.2.3.5M EU/G7 Pcs 300

20 NUT,HEX HEAD Hex Nut, M20, Material 25Cr:22Ni:2Mo, ASME B18.2 AIM EU/G7 Pcs 300

21 ‘Washer Washer, 24mm OD 14mm ID 6mm thick., Material 25Cr:22Ni:2Mo, ASME B18.22M EU/G7 Pcs 300

22 ‘Washer Washer, 40mm OD 21 mm ID 6mm thick., Material 25Cr:22Ni:2Mo, ASME B18.22M EU/G7 Pcs 300

23 STUD BOLT Stud bolt, full thread, M12, 1.75P, 60L, Material 25Cr:22Ni:2Mo, ASME B18.31.1M EU/G7 Pcs 350

24 BOLT,HEX HEAD Hex bolt, full thread, M16-2P-75L, Material 25Cr:22Ni:2Mo, ASME B18.2.3.5M EU/G7 Pcs 100

25 BOLT,HEX HEAD Hex bolt, full thread, M16-2P-65L, Material 25Cr:22Ni:2Mo, ASME B18.2.3.5M EU/G7 Pcs 50

26 NUT,HEX HEAD Hex Nut, M16, 2P, Material 25Cr:22Ni:2Mo, ASME B18.2.4.1M EU/G7 Pcs 150

27 Washer Spring washer, M16, Material 25Cr:22Ni:2Mo, As Drawing EU/G7 Pcs 200

28 BOLT, SCREW Hex head bolt, M8x40L Material 904L, ASME B18.2.3.5M EU/G7 Pcs 900

29 NUT HEX Hexagonal Nut, M8 ,Material 904L, ASME B18.2.4.1M EU/G7 Pcs 900

30 WASHER WASHER,M8, thick.3mm, Material 904L, ASME B18.22M EU/G7 Pcs 900

31 BOLT, EXPAND BOLT EXPAND, M8, LENGTH:80 millimeters(mm); Material 904L; EU/G7 Pcs 150

32 SCREW, SELF DRILL Self drill screw, ST 6.3 x 32, Material 904LSS, EU/G7 Pcs 1000




